Infinitesimal Calculus 1
Trigonometric functions

Integrals 6

1.— Solve the following integrals:
a) /Sin 3xsin 2z dz

c) / sin 3z cos bz dx

2.— Find the following integrales:
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3.— Obtain the primitives:
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4.— Solve the following integrals:
a) / sin x dr
1+ cosx + cos2x
in 2
o) / _sm2r
(2 +sinz)
CoS T
d
°) / cos 2x .

2
cos“ &
dx
g) / 4cos’z + sin’z

cosdz cos 2z dx

/ cos 2z sin 3x dx

sin? z cos® x dx

sm T COST

b) / 5cos.11:'—|—6 dx
2cosx +sinx + 3

d) /3s%nx—i—2(:osx de
2sinx + 3cosx

t
b)/ e
1 4 sin” z tan” x
1
d) /— dz
sin x 4+ sin 2x
1
f —d
)/costOSQx .

in 2
o [0,
1+ sin“zx

5.— Solve, depending on the values of a € R, the following integrals:
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6.— Obtain the following primitives:

a) [ sin®x cosx dx
c) /sin3 (g) cos” (%) dx

e) /Cotan 3z cosec'x dx
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